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H5.1
(1) 96 ++/98 + 2424 — 3432 = —4/6 + 7V2 + 2 x 24/6 —3x 42
=46+ 72 + 446 - 1242 =[ 542

) @xﬁxﬁzZ@xBxﬁxﬁsz l§x2x§x7=6x3\/ﬂ:

@ [5,203 V60 V5 xy3 23 xV5 215
375 15 3xy3 5 x5 15

V15 2415 2415 _5V15+615-215 _9V15 _|3415

3 5 15 15 15 | 5
@ 24 (V27 -V72) V12 (V54 ~Va9) = 26 (343 - 642 ) - 2/3 (36 -7
=2x3x~6%x3 —2x6x/6x2 —2x3x/3x6 +14/3
=6x3v2 —12x 23 —6x 342 + 1443
—18V2 - 2443 1842 + 1443 =[-1043]

H5.2

1) (a+2b)(2a—3b)=2a* —3ab + 4ab — 6b* =
@) (a+2b)@—2b)=a® —2ab + 2ab - 4b° =|a® — 4b*]

@) W+ +4) =2’ +4x+2x+8=x" +6x+8|

@) (x—6)"=(x—6)(x—6)=x> —6x—6x+36=|2" 122+ 36]
5) (JE+\/E)(2—\/§):2\/§—\/€+2\/E—3J_=

(6) (\/§+\/§)Z =(\/§+\/§)(\/§+\/§):2+\/6+\/6+3:



HS5.3

1) @+2)@+[3])=x"+[5]x+6

@ @+ (D PE+][8) [)=2"-9x+8

@ @+[3)a+][15))=x*-12x-45

@ (+[(6) per+][9])=2"+3x-54

) Gx+D(1]x+][2) =32 +[(5) [x-2
©® @x+3)(2]x+[ (5 =ar’+[(0)]|r-15

H5.4
G+ + 8+ 2+ DB+ 20+ D) FEBA L E T D x* OIAIT
N

2 x1+2° x2x + 4% x3x% = x* + 24" +3x" =61
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